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(c) State Leibnitz rule of successive differentiation. Apply it to prove that if
1/m -1/m

Yy =2 then (5 1)y, + 2R+ Dy, + (7 —m*)y, =0.

AR q7 T TSI 74 (Leibnitz rule of successive differentiation)
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(xz—l)yn+2+(2n+1)xyn+,+(n2—m2)y,,=0 I '

HA® differentiation 79 Leibnitz rule & Scol®@ TR | IGHT AT TRI YHOT
R (x=1)y,., +Qn+Dxy,  +(n* —m)y, =0, A& Y™ +y7'" =2x Hy|

(d) Find the asymptotes of the following curve x*+y° =3ax’.
x> +y® =3ax? I SRR ey I
B x° +y° =3ax’ B I Wb Abra |

n/4
(e) If I, = Itan" 6d@ , then prove that n(1,,, +1,,)=1.
0

nl4

I,= [tan"0d0 2&e1 e n(1,,, +1,,)=11
0
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af 1, = [tan"0d8, WQ n(l,, +1,,)=1 §B 70 50T R
0

() Discuss the characteristics of the curve y? (x2 —~9)=x" and then sketch or trace
it.

32 (x* -9) = x* 33 MASF T (characteristics) 4 T3t @k 7 Ba W1t g
(sketch) =&« SR
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